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P3-14

BriE) | EBIETK FD) | EE (EH/HK) | XK SRR

06:45 210 50.0 |Z=& ;Ri%@06:45 (KPB{EREEE)
07:35 210 50.0 |Z= 1iRi1%@07:35 (K FHfER%=2)
08:55 210 50.0 |Z= BR1&@08:55 (K AfEEE)
09:55 210 50.0 Iz ;R1%@09:55 (KB{EREEE)
10:45 210 50. 0 ] i1%@10:45 (KRFERE)
11:40 210 50.0 A BRi&e11:40 CRBAERER)
12:55 210 50.0 ] Bi&@12:55 (KRREERE)
13:55 210 50.0 A BRi&@13:55 (KAfEREE)
14:40 210 50.0 |Z= Bi%014:40 (REERE)
15:20 210 50.0 |&& RRi%&@15:20 (RAEHS)
16:15 210 50.0 (= BRige16:15 (kKBfEREE)
23+ 2310.0 (117%) 550. 0 32 FH%KEC: 1560.0, PH: 6.0
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